normalized X2

[ normalized x? probability |

0.95,

o o
fo

05
0.3166

Std Dev

0.3152

02468101214161820 5 0.1 o 7080 1
X Prob(x?)
s DQM_m| kFll TTorigma\-lOG
— DOQM_mkFit_TTNEWHSMS95_ALLITERS-106
s DQM_mkFit_TTNEWHSMS95chi2_ALLITERS-106
s DQM_MKFit TTNEWHSMSQSdoq ALLITERS-106
A2 = 5F
5 f g :
S 1 N4
< 2 3E- .
Y = E ]
1.6| E ]
b s 2 ]
1.4 Voo aE-
E. o5 il
1.2] 05 :
it : ]
0.8 -3f- :
0.6 —AE :
o 4 o “5F
T 1.05 T 3f .-
@ o f ]

1 2F - EH-E -[H-HEE FaHEE - -
0.95| 1E - -5t Ly wlft - -
o . AL e

=3 =3 -2 - 0 1 2 3

TP n (PCA to beamline)
A E
2 18F-
< 1.6F-
v E
1.4~
1.2F-
1
0.8F-
0.6~
0.4F-
0.2F-
o O
T
@
0.5
0 = il
10 1072

ul

<dpp. > (%)

O LN w N

-1
AR(track, jelts)



	Contents
	Page 1


